12 [1/GeV]

pT

1/cdo/d

Ratio to ATLAS

<
=

=
o
R

o
&

1074

[EEY

0.5

~t
1

13000 GeV pp

— | - I , | . | | | | 5
= top ' . 7 %
= P, (ATLAS semileptonic ttbar) =B
— =
: —1©
_ BGY
: N
=
= hE
— F’.“l\ s
- . i
\: [R—
= n :
= . E
- . =
‘l\ 2
_ . E:
: h = o)
= ) Ik
- ) .
- . !
N m ATLAS ,\!! ] i
-~ Pythia 6.428 391 e, g
= - <-- Pythia 6.428 393 “ _L
— Q 3
— --®-- Pythia 6.428 394 '. =5
— - ¥-- Pythia 6.428 395 35
_ — 9
1<}
i —
— I
} =2
W"'i"l"":g s =i TS 1
, —0.5
l I I I I . | ) | . I | | l
° 500 1000



	Contents
	Page 1


